Parts List

STOCK No DESCRIPTION QTY 7P1010 PLUNGER/CORD ASSEMBLY DETAIL
2F1203 |M4 Nut 2 7C1001
2F1703 |M4 x 30mm Screw 2
2M2044 |Dump Valve Body 1 3F2417
252007 |O Ring 1
252150
252150 |Dump Valve Diaphragm 1
- " 252007
3F3005 |Cord Retainer Pin 1 3F2417 2XHO02 3R4011
3R4011 |Plastic Backing Ring 1
3R4013 |Reducer 1 252004
4B1200 |Air Gun Butt Assembly 1
7A1503 [Regulator Assembly (including O ring 1 252119 7A1503
and washer)
7A2000 |Standard Nut and Tail Connection 2F1213 252116 3R4013 2M2044
7A2001 |European Quick Release Fitting
Assembly 3F3005
7A2002 |US Quick Release Fitting Assembly 1
7B4000 |Barrel 508mm 1
7C1001 |Air Gun Back Cap 1
7C1007 |Front Cap and Seal 1 7X1015 7C1008
7C1008 |Cotswold Air Gun Back Cap and Seal 1 2F1203 252038
7P1010 |Plunger/Cord Assembly 1 ~B4000
7X1015 |Barrel Strap 1
2F1703
vd— 7A2002 Optional American quick release fitting
4B1200
?4— 7A2001 Optional European quick release fitting
7C1007
7A2000
m WWW.PCCOX.C0.uk REV DATE
Airflow | Bulk 2 Litre sales@pccox.co.uk S 0L/2000
The original TEL:44(0)1635 264500




Parts List
STOCK No DESCRIPTION QTY 7P1010 PLUNGER/CORD ASSEMBLY DETAIL
2F1203 |M4 Nut 2 7C1001
2F1703 |M4 x 30mm Screw 2
2M2044 |Dump Valve Body 1 3F2417
252007 |O Ring 1
252150
252150 |Dump Valve Diaphragm 1
- " 252007
3F3005 |Cord Retainer Pin 1 3F2417 2XHO02 3R4011
3R4011 |Plastic Backing Ring 1
3R4013 |Reducer 1 @ 252004
4B1200 |Air Gun Butt Assembly 1
7A1503 [Regulator Assembly (including O ring 1 252119 7A1503
and washer) 7
7A2000 dard Nut and Tail i 1 252116 |
Standard Nut and Tail Connection 2F1213 - \\\ ‘ 2M2044
7A2001 |European Quick Release Fitting \
Assembly W 3F3005
7A2002 |US Quick Release Fitting Assembly 1
7B4000 |Barrel 508mm 1 =
7C1001 |Air Gun Back Cap 1 N\ )
7C1007 |Front Cap and Seal 1 7X1015 W 7C1008
7C1008 |Cotswold Air Gun Back Cap and Seal 1 2F1203 252038
7P1010 |Plunger/Cord Assembly 1 ~B4000
7X1015 |Barrel Strap 1
2F1703
(& . . . -
[T/ 7A2002 Optional American quick release fitting
4B1200 S
@4— 7A2001 Optional European quick release fitting
7C1007
S 7A2000
7P1010
m WWW.PCCOX.C0.uk REV DATE
Airflow | Bulk 2 Litre sales@pccox.co.uk N 0L/2000
The original TEL:44(0)1635 264500




